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1. WIEEIY

S=4x%x7. 8=31me

V1=C7, 8-4) %ex4%x1/2=15. 2m3
Ve=4xex4%1/3=10. 6m3
V=V1+V2=25m3

2. WITEY)

S=4%5=20me

Vi=4%1 4x(5-2 8 =12, 3m3
Ve=4x1. 4%2, 8x1/2=/. 8m3
V=V1+V2=20m3
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2. 15m

3. 8m 3. 86m

3. 43m 3

28m

3. 35m

3. 9m

22 66m

3, MIEEY
DS1=3.
V1=3,
®@se=3
Ve=3,
®@S3=3.
V3=3,
@s4=3,
V4=3,
®S5=3
V5=3,
®S6=3.
V6=3,

8x4, 3=16. 3m2
8x4, 3x2. 19%1/2=17. 56m3
864, 3=16. Sm2
86%4, 3x2, 1o%1/2=17. 84m3
43%4, 3=14. /m2
43%4, 3x2, 10%1/2=15. 85m3
c8x4, 3=14. Ime
CB*4, 3%2, 15%1/2=15 16m3
35%4, 3=14. 4m2
30%4, 3x%2, 15%1/2=135. 48m3
9%4, 3=16. /m2
Ox4, 3x2. 1o%1/2=18. 02m3

st S=S81+82+83+84+85+86=92m2
V=V1+V2+V3+V4+VS+S6=99m3

4, WBEY (PN EFE)

S=4%5=20me

V1=4x1 4*%(5-2 8)=12. 3m3
Ve=4x1, 4xe, 8x1/2=/. 8m3
V=V1+V2=20m3

o, WIREY CTHED)
S=8%4=32me
V=8%2*x4x1/2=32m3
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S=3%6=18me
V=3%3*%6%1/2=2/m3

8. WwirEY (28 9)
S=5. 9%2. 3=13m2

V=0 9%2 3x1. 65=22m3

6. EEY (KL I)
S=(le+le 6) x6xl/2=/3m2
V1=12x3*%6x1/2=108m3
Ve=0. 6x3xoxl/2x1/3=1. 8m3
V=V1+Ve=109m3
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